#include <stdio.h>

#include <stdlib.h>
#include <unistd.h>
#include <signal.h>

#include <string.h>

void bye(int s);

/*******************************************************************************/
void main()

{

sigset_t set;
pid_t pid: // processtis
struct sigaction act;

pid = getpid();
printf(" process id = %d \n", pid):

// SIGUSRIRH Wot|2lst the Lpoix] Al1d 24
sigfillset(&set);

sigdelset(&set, SIGUSR1);
sigprocmask(SIG_SETMASK, &set, NULL);

// SIGUSR10] $AIEH actE 38
memset(&act, 0, sizeof(struct sigaction));
act.sa_handler = bye;
sigaction(SIGUSR1, &act, NULL):

sleep(60):

for(::
printf(" # \n");

/*******************************************************************************/
void bye(int sig)
printf("SIGUSR1 received!!'\nExiting!!\n");

exit(0):



